&

(2012-13 and Onwards) (Freshers + Repeaters)
LANGUAGE SANSKRIT (Paper - lii)
Naganandam (I - Ill Acts) and Comprehension

Time : 3 Hours Max. Marks : 100

Instructions: 1) Answer in Sanskrit/Kannada/English.
2) Question Nos. I and VIl should be answered in Sanskrit
only.

|. geerEyl YA U0 WEha Wl forgd | (15x1=15)
FFNTYNIY BOFT TINON Bo7, 30D U304,
Answer any fifteen questions in Sanskrit.

P.T.O.
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1. g JE: I fored | (2x12=24)
FFNTYNTY NTBOTINET LVZOR.
Answer any two of the following questions.
1) “‘Sieared: dgma e’ fEed |
4 22eTBRTTOT/ID DETTV0R T2030T’ QTR
Justify that “Jeemutavahana is a #iET= TFeh: |
2) HAIIAT: AT e |
TOO0IOTISOL m;ﬁda’% 233 .
Sketch the character of Malayavathi.
3) ANTHEATCHET ohd: SST-hicl—hal: ATAFHd T4 Torad |
JOMOROTI JEITCO é%ré’bs 5303, To® éoéﬁ%ﬁs;i B0V T,LI0G LTCAD.
Write an essay on place, date and works of the author of Nagananda.

11, T AT FIATE FedT AU | "' (2x6=12)
QTR BREBNTO LTI DZOA.
Translate and explain any two of the following verses.

1) sfewt fAgqur: sl RIECEAS I UDIR]
dres B = SfSEEaid A1 9 387 999 |
e hehAdTE ATeSahaIT: U8 foh IH-
Wﬂ'ﬁﬁﬁ FEYIQUTHT‘TUT |
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2) TIYM YTTT YU TehieaTiahl Hradiedaedl
fgife=n faus=n fafaraufsds afieaion )
Qﬁﬁmmﬁwmwﬁam
wﬁﬁ:ﬂ?ﬂ FET: T - atafed ||
)Efmm?%raeg GAThIET 4 | Fafq |
qa&rwgﬁaa maﬁw%%ﬁaqn

V. TeRE TN 3T{dTE % | (1x8=8)
20030 TNT3, LIONRI, LRI BWRE.

Translate any one of the prose passages.

BIRE —

aw/@i;:ﬁm/OR
(wfarea) FHR | fHEEy: JomTH |
(gszan) Tremadn | @rrar ! gd: €efiFar |
ﬂmmﬂﬁfﬁﬂﬁﬂ:l
g | TR
fomaray | srfusperett faausi faearey;: 2
FIA 1A | ATAEE-QLAIRH o, HehIRHTa: |
IELIGFIRCIE)
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V. Tqurt ga-ey fagud | - (4%4=16)

mcﬁa’odwr J303 DA,
Annotate any four of the following.

1) ToRftreq 3ThROT ¥ |
2) g=T: W] qadl: |
3) 74 EEAEAr a0 <=1 &€1: |
4) IV WY hHEACAHTET: |
)
)

5) HadTetsh | Fdlsd TAHTICTehT 2

6) WA AT TESHHTAShMI |
VI. fawaganidsa agfewvli forad |  (2x5=10)

NTT ITODNT VBV 3T LTI,
Write short notes on any two.

1) SHHaTE: | 2) TALT: |
3) AE: | 4) fimay: |
VII. 30 Ui=Re idat T ST faed | (5x3=15)

AT GO gd Sifer: gEuTead ITME: 99 | SUH: 3980 846 I g9
A= | ITNH TF g-a-a: Wald | JTT: JIET e | STHg Sraeqer=iy
TEATH, GHTEATH AT e qaf=d | STNHa 94 bald | 3aT: 1Y 969 9
%ofﬁ?f, q: WS%IW:WW: ot | HTh0T: AT FHHIM
eFd FATY HAIOT fo71 ITAFT e 7 wafd | T qar=ion qqafd: Uy




